	TABULATION OF BIDS	1		•				-		•	
	Miscellaneous Permanent Best Management Practices Phase 3, Various Locations on Oahu HWY-O-02-20 0.30 Miles									STATE OF HAWAII	
ISLAND:	Oshu			CONTECH EN	,	HAWAII WORKS, INC.		GLOBAL SPECIALTY CONTRACTORS, INC.			MENT OF ORTATION
	Waialua and Ewa				0.			CUNTRAC	TORS, INC.		S DIVISION
DATE ADVERTISED: BID OPENED:											
COMPLETION TIME:	Two Hundred Sixty (260) Working Days				Γ		[Γ		
ITEM NO.	ITEM PID 496	APPROX. QUANTITY	UNIT USED	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
203.0100	Excavation and Embankment	100	CY	\$300.00	\$30,000.00	\$508.00	\$50,800.00	\$135.00	\$13,500.00	\$110.00	\$11,000.00
209.0100	Installation, Maintenance, Monitoring, and Removal of BMP	LS	LS	LS	\$47,000.00	LS	\$6,488.00	LS	\$18,000.00	LS	\$15,000.00
209.0200	Additional Water Pollution, Dust, and Erosion Control	FA	FA	FA	\$10,000.00	FA	\$10,000.00	FA	\$10,000.00	FA	\$10,000.00
219.0000	Determination and Characterization of Fill Material	LS	LS	LS	\$7,000.00	LS	\$2,737.00	LS	\$37,000.00	LS	\$5,000.00
219.0200	Testing for Lead Based Paint	FA	FA	FA	\$5,000.00	FA	\$5,000.00	FA	\$5,000.00	FA	\$5,000.00
618.0100	Soil Preparation	285	SY	\$23.00	\$6,555.00	\$15.00	\$4,275.00	\$112.00	\$31,920.00	\$45.00	\$12,825.00
621.0100	Inventory of Invasive Species before Construction	LS	LS	LS	\$6,000.00	LS	\$8,717.00	LS	\$3,800.00	LS	\$8,000.00
621.0200	Invasive Species Removal Plan	FA	FA	FA	\$5,000.00	FA	\$5,000.00	FA	\$5,000.00	FA	\$5,000.00
	Removal of Plants and Animals Established before Physical Construction or Site Work, Post Removal Monitoring	FA	FA	FA	\$30,000.00	FA	\$30,000.00	FA	\$30,000.00	FA	\$30,000.00
621.0400	Monitoring of Invasive Species During and After Construction	LS	LS	LS	\$2,800.00	LS	\$19,929.00	LS	\$7,500.00	LS	\$5,000.00
	Post-Construction Inventory Prior to Returning the Site to the State	LS	LS	LS	\$3,100.00	LS	\$2,482.00	LS	\$3,800.00	LS	\$5,000.00
641.0300	Hydro-Mulch with Geobinder With Grass Seed Mix	285	SY	\$78.00	\$22,230.00	\$71.00	\$20,235.00	\$600.00	\$171,000.00	\$15.00	\$4,275.00
641.0700	Additional Hydro-Mulch With Geobinder With Grass Seed Mix Applications	FA	FA	FA	\$11,700.00	FA	\$11,700.00	FA	\$11,700.00	FA	\$11,700.00
643.0100	Maintenance of Existing Landscape Areas	FA	FA	FA	\$2,500.00	FA	\$2,500.00	FA	\$2,500.00	FA	\$2,500.00
645.0100	Traffic Control	LS	LS	LS	\$35,000.00	LS	\$18,688.00	LS	\$70,000.00	LS	\$40,000.00
	1					1				Sheet No. 1 of 9 Sh	

Sheet No. 1 of 9 Sheets

	TABULATION OF BIDS	-		-		1		1			
PROJECT.	Miscellaneous Permanent Best Management Practices Phase 3, Various Locations on Oahu	_									
NET LENGTH:	HWY-O-02-20 0.30 Miles							GLOBAL SPECIALTY		STATE OF HAWAII DEPARTMENT OF	
ISLAND: DISTRICT:	Oahu Waialua and Ewa				CONTECH ENGINEERING, INC.		HAWAII WORKS, INC.		CONTRACTORS, INC.		MENT OF ORTATION S DIVISION
DATE ADVERTISED: BID OPENED:											
COMPLETION TIME.	Two Hundred Sixty (260) Working Days										
		APPROX.									
ITEM NO.	ITEM PID 496 - Cont'd	QUANTITY	UNIT USED	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
	Additional Police Officers, Additional Traffic Control Devices, and Advertisement	FA	FA	FA	\$10,000.00	FA	\$10,000.00	FA	\$10,000.00	FA	\$10,000.00
648.0100	Field-Posted Drawings	LS	LS	LS	\$420.00	LS	\$748.00	LS	\$1,700.00	LS	\$1,500.00
671.0100	Protection of Endangered Species	FA	FA	FA	\$5,000.00	FA	\$5,000.00	FA	\$5,000.00	FA	\$5,000.00
684.0100	Grass Pavement System	2550	SF	\$25.00	\$63,750.00	\$19.00	\$48,450.00	\$26.00	\$66,300.00	\$25.00	\$63,750.00
	Mobilization (Not to Exceed 6% of the Sum of All Items [PID 496] Excluding the Bid Price of this Item)	FA	FA	LS	\$15,000.00	LS	\$10,000.00	LS	\$8,500.00	LS	\$15,000.00
	Sum of All Items {PID 496}				\$318,055.00		\$272,749.00		\$512,220.00		\$265,550.00
				1						Sheet No. 2 of 9 Sh	

Sheet No. 2 of 9 Sheets

	TABULATION OF BIDS	-								•	
	Miscellaneous Permanent Best Management Practices Phase 3, Various Locations on Oahu HWY-O-02-20	_									
NET LENGTH:										STATE O	
ISLAND: DISTRICT:	Oahu Waialua and Ewa			CONTECH ENGINEERING, INC.		HAWAII WORKS, INC.		GLOBAL SPECIALTY CONTRACTORS, INC.		DEPARTI TRANSPO HIGHWAYS	
DATE ADVERTISED: BID OPENED:	May 20, 2022										
COMPLETION TIME:	Two Hundred Sixty (260) Working Days										
ITEM NO.	ITEM	APPROX. QUANTITY	UNIT USED	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
	PID 21										
202.0100	Removal of Existing Steel Pipe	LS	LS	LS	\$1,200.00	LS	\$8,776.00	LS	\$6,500.00	LS	\$2,500.00
209.0100	Installation, Maintenance, Monitoring, and Removal of BMP	LS	LS	LS	\$54,000.00	LS	\$14,472.00	LS	\$18,000.00	LS	\$20,000.00
209.0200	Additional Water Pollution, Dust, and Erosion Control	FA	FA	FA	\$10,000.00	FA	\$10,000.00	FA	\$10,000.00	FA	\$10,000.00
219.0100	Determination and Characterization of Fill Material	LA	LS	LS	\$5,600.00	LS	\$2,737.00	LS	\$40,000.00	LS	\$5,000.00
219.0200	Testing for Lead Based Paint	FA	FA	FA	\$5,000.00	FA	\$5,000.00	FA	\$5,000.00	FA	\$5,000.00
618.0100	Soil Preparation	930	SY	\$31.00	\$28,830.00	\$7.00	\$6,510.00	\$50.00	\$46,500.00	\$45.00	\$41,850.00
	Pili Grass (Heteropogon Contortus, 4" Pot @ 24" O.C. Tri Spacing)	2385	EA	\$12.00	\$28,620.00	\$12.00	\$28,620.00	\$13.00	\$31,005.00	\$12.00	\$28,620.00
621.0100	Inventory of Invasive Species before Construction	LS	LS	LS	\$3,100.00	LS	\$8,717.00	LS	\$3,800.00	LS	\$8,000.00
621.0200	Invasive Species Removal Plan	FA	FA	FA	\$5,000.00	FA	\$5,000.00	FA	\$5,000.00	FA	\$5,000.00
	Removal of Plants and Animals Established before Physical Construction or Site Work, Post Removal Monitoring	FA	FA	FA	\$30,000.00	FA	\$30,000.00	FA	\$30,000.00	FA	\$30,000.00
621.0400	Monitoring of Invasive Species During and After Construction	LS	LS	LS	\$2,800.00	LS	\$49,784.00	LS	\$7,500.00	LS	\$5,000.00
	Post-Construction Inventory Prior to Returning the Site to the State	FA	FA	LS	\$3,100.00	LS	\$2,482.00	LS	\$3,800.00	LS	\$5,000.00
641.0400	Hydro-Mulch With Geobinder Without Grass Seed Mix	930	SF	\$34.00	\$31,620.00	\$34.00	\$31,620.00	\$160.00	\$148,800.00	\$15.00	\$13,950.00
	Additional Hydro-Mulch With Geobinder Without Grass Seed Mix Applications	FA	FA	FA	\$41,400.00	FA	\$41,400.00	FA	\$41,400.00	FA	\$41,400.00
643.0100	Maintenance of Existing Landscape Areas	FA	FA	FA	\$2,500.00	FA	\$2,500.00	FA	\$2,500.00	FA Sheet No. 3 of 9 Sh	\$2,500.00

Sheet No. 3 of 9 Sheets

<u></u>	TABULATION OF BIDS	T		1		1		1		1	
FROJECT.	Miscellaneous Permanent Best Management Practices Phase 3, Various Locations on Oahu	_									
PROJECT NO.:	HWY-O-02-20										
NET LENGTH:	0.30 Miles							GLOBAL SPECIALTY CONTRACTORS, INC.		STATE OF HAWAII DEPARTMENT OF TRANSPORTATION	
ISLAND:	Oahu			CONTECH EI	C.		ORKS, INC.				
DISTRICT:	Waialua and Ewa									HIGHWAYS	S DIVISION
DATE ADVERTISED: BID OPENED:											
COMPLETION TIME:	Two Hundred Sixty (260) Working Days										
ITEM NO.	ITEM	APPROX. QUANTITY	UNIT USED	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
	PID 21 - Cont'd	QUANTIT			71000111						/ 1000111
645.0100	Traffic Control	LS	LS	LS	\$58,000.00	LS	\$56,063.00	LS	\$98,000.00	LS	\$40,000.00
	Additional Police Officers, Additional Traffic Control Devices, and Advertisement	FA	FA	FA	\$10,000.00	FA	\$10,000.00	FA	\$10,000.00	FA	\$10,000.00
648.0100	Field-Posted Drawings	LS	LS	LS	\$420.00	LS	\$748.00	LS	\$1,700.00	LS	\$1,500.00
659.0100	Erosion Control Matting, Type 1	930	SY	\$160.00	\$148,800.00	\$174.00	\$161,820.00	\$142.00	\$132,060.00	\$25.00	\$23,250.00
671.0100	Protection of Endangered Species	FA	FA	FA	\$5,000.00	FA	\$5,000.00	FA	\$5,000.00	FA	\$5,000.00
	Mobilization (Not to exceed 6% of the Sum of All Items [PID 21] Excluding the Bid Price of this Item)	LS	LS	LS	\$20,000.00	LS	\$22,000.00	LS	\$8,500.00	LS	\$18,200.00
	Sum of All Items {PID 21}				\$494,990.00		\$503,249.00		\$655,065.00		\$321,770.00
					· ·						· ·
										Sheet No. 4 of 9 Sh	
										THE FEAT A SECON	

	TABULATION OF BIDS	-		r		T				1	
	Miscellaneous Permanent Best Management Practices Phase 3, Various Locations on Oahu HWY-O-02-20	-									
NET LENGTH:										STATE O	
ISLAND:	Oahu Waialua and Ewa			CONTECH ENGINEERING, INC.		HAWAII WORKS, INC.		GLOBAL SPECIALTY CONTRACTORS, INC.		DEPARTI TRANSPC HIGHWAYS	
DATE ADVERTISED:										HIGHWAR	
BID OPENED:											
COMPLETION TIME:	Two Hundred Sixty (260) Working Days				-		1		-		
ITEM NO.	ITEM	APPROX. QUANTITY	UNIT USED	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
	PID 246										
202.0300	Removal of Existing Water Box	LS	LS	LS	\$1,200.00	LS	\$5,697.00	LS	\$4,000.00	LS	\$1,500.00
203.0100	Excavation and Embankment	225	CY	\$600.00	\$135,000.00	\$506.00	\$113,850.00	\$120.00	\$27,000.00	\$110.00	\$24,750.00
209.0100	Installation, Maintenance, Monitoring, and Removal of BMP	LS	LS	LS	\$12,000.00	LS	\$11,482.00	LS	\$16,000.00	LS	\$20,000.00
209.0200	Additional Water Pollution, Dust, and Erosion Control	FA	FA	FA	\$10,000.00	FA	\$10,000.00	FA	\$10,000.00	FA	\$10,000.00
219.0100	Determination and Characterization of Fill Material	LS	LS	LS	\$5,600.00	LS	\$2,737.00	LS	\$39,000.00	LS	\$5,000.00
219.0200	Testing for Lead Based Paint	FA	FA	FA	\$5,000.00	FA	\$5,000.00	FA	\$5,000.00	FA	\$5,000.00
612.0100	Grouted Rubble Riprap	655	SY	\$550.00	\$360,250.00	\$407.00	\$266,585.00	\$265.00	\$173,575.00	\$450.00	\$294,750.00
618.0100	Soil Preparation	35	SY	\$46.00	\$1,610.00	\$30.00	\$1,050.00	\$200.00	\$7,000.00	\$45.00	\$1,575.00
621.0100	Inventory of Invasive Species before Construction	LS	LS	LS	\$3,100.00	LS	\$8,717.00	LS	\$3,800.00	LS	\$8,000.00
621.0200	Invasive Species Removal Plan	FA	FA	FA	\$5,000.00	FA	\$5,000.00	FA	\$5,000.00	FA	\$5,000.00
	Removal of Plants and Animals Established before Physical Construction or Site Work, Post Removal Monitoring	FA	FA	FA	\$30,000.00	FA	\$30,000.00	FA	\$30,000.00	FA	\$30,000.00
621.0400	Monitoring of Invasive Species During and After Construction	LS	LS	LS	\$2,800.00	LS	\$49,784.00	LS	\$7,500.00	LS	\$5,000.00
	Post-Construction Inventory Prior to Returning the Site to the State	LS	LS	LS	\$3,100.00	LS	\$2,482.00	LS	\$3,800.00	LS	\$5,000.00
	High-Performance Hydraulic Erosion Control Hydro-Mulch Seeding Mix	35	SY	\$240.00	\$8,400.00	\$241.00	\$8,435.00	\$1,700.00	\$59,500.00	\$15.00	\$525.00
	Additional High-Performance Hydraulic Erosion Control Hydro-Mulch Seeding Mix Applications	FA	FA	FA	\$1,575.00	FA	\$1,575.00	FA	\$1,575.00	FA Sheet No. 5 of 9 Sh	\$1,575.00

Sheet No. 5 of 9 Sheets

	TABULATION OF BIDS	T				•		•			
FROJECT.				CONTECH ENGINEERING, INC.		HAWAII WORKS, INC.			SPECIALTY TORS, INC.	DEPARTI TRANSPO	
DISTRICT: DATE ADVERTISED: BID OPENED:										HIGHWAYS	S DIVISION
COMPLETION TIME:	Two Hundred Sixty (260) Working Days										
ITEM NO.	ITEM PID 246 - Cont'd	APPROX. QUANTITY	UNIT USED	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
643.0100	Maintenance of Existing Landscape Areas	FA	FA	FA	\$5,000.00	FA	\$5,000.00	FA	\$5,000.00	FA	\$5,000.00
645.0100	Traffic Control	LS	LS	LS	\$50,000.00	LS	\$56,063.00	LS	\$76,000.00	LS	\$40,000.00
	Additional Police Officers, Additional Traffic Control Devices, and Advertisement	FA	FA	FA	\$10,000.00	FA	\$10,000.00	FA	\$10,000.00	FA	\$10,000.00
648.0100	Field-Posted Drawings	LS	LS	LS	\$420.00	LS	\$748.00	LS	\$1,700.00	LS	\$1,500.00
659.0100	Erosion Control Matting, Type 1	35	SY	\$380.00	\$13,300.00	\$591.00	\$20,685.00	\$300.00	\$10,500.00	\$25.00	\$875.00
671.0100	Protection of Endangered Species	FA	FA	FA	\$5,000.00	FA	\$5,000.00	FA	\$5,000.00	FA	\$5,000.00
	Mobilization (Not to Exceed 6% of the Sum of All Items [PID 246] Excluding the Bid Price of this Item)	LS	LS	LS	\$30,000.00	LS	\$32,000.00	LS	\$8,500.00	LS	\$28,700.00
	Sum of All Items {PID 246}				\$698,355.00		\$651,890.00		\$509,450.00		\$508,750.00

Sheet No. 6 of 9 Sheets

l	TABULATION OF BIDS					1		1		1	
PROJECT.	Miscellaneous Permanent Best Management Practices Phase 3, Various Locations on Oahu	-									
PROJECT NO.: I	HWY-O-02-20										
NET LENGTH:	0.30 Miles			CONTECH EI		HAWAII WORKS, INC.		GLOBAL SPECIALTY		STATE OF HAWAII DEPARTMENT OF	
ISLAND:				IN			JRNO, INC.		TORS, INC.	TRANSPO	ORTATION
DISTRICT:	Waialua and Ewa									HIGHWAY	S DIVISION
DATE ADVERTISED:											
BID OPENED:	June 20, 2022										
COMPLETION TIME:	Two Hundred Sixty (260) Working Days	APPROX.									
ITEM NO.	ITEM	QUANTITY	UNIT USED	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
I	PID 973										
202.0200	Removal of Existing Chain Link Fence, Fence Post, and Footings	LS	LS	LS	\$2,000.00	LS	\$27,554.00	LS	\$9,800.00	LS	\$20,000.00
203.0100	Excavation and Embankment	80	CY	\$250.00	\$20,000.00	\$741.00	\$59,280.00	\$160.00	\$12,800.00	\$110.00	\$8,800.00
209.0100	Installation, Maintenance, Monitoring, and Removal of BMP	LS	LS	LS	\$31,000.00	LS	\$9,239.00	LS	\$15,000.00	LS	\$20,000.00
209.0200	Additional Water Pollution, Dust, and Erosion Control	FA	FA	FA	\$20,000.00	FA	\$20,000.00	FA	\$20,000.00	FA	\$20,000.00
219.0100	Determination and Characterization of Fill Material	LS	LS	LS	\$5,600.00	LS	\$2,737.00	LS	\$39,000.00	LS	\$5,000.00
219.0200	Testing for Lead Based Paint	FA	FA	FA	\$5,000.00	FA	\$5,000.00	FA	\$5,000.00	FA	\$5,000.00
607.0100	4-Feet, Chain Link Fence	21	LF	\$105.00	\$2,205.00	\$105.00	\$2,205.00	\$110.00	\$2,310.00	\$300.00	\$6,300.00
607.0200	6-Feet, Chain Link Fence	405	LF	\$102.00	\$41,310.00	\$103.00	\$41,715.00	\$115.00	\$46,575.00	\$400.00	\$162,000.00
607.0300	Chain Link Gate, 6 Feet High and 12 Feet Wide	1	EA	\$9,000.00	\$9,000.00	\$8,986.00	\$8,986.00	\$9,700.00	\$9,700.00	\$15,000.00	\$15,000.00
618.0100	Soil Preparation	1010	SY	\$58.00	\$58,580.00	\$40.00	\$40,400.00	\$15.00	\$15,150.00	\$45.00	\$45,450.00
618.0200	Imported Compost, 2" Layer	1010	SY	\$22.00	\$22,220.00	\$21.00	\$21,210.00	\$43.00	\$43,430.00	\$45.00	\$45,450.00
	Kou Tree (Cordia Subcordia, 25 Gal. 1.5" Cal, Min., 6'-8' Height, 4'-6' Spread)	3	EA	\$2,800.00	\$8,400.00	\$2,808.00	\$8,424.00	\$3,000.00	\$9,000.00	\$850.00	\$2,550.00
621.0100	Inventory of Invasive Species before Construction	LS	LS	LS	\$4,500.00	LS	\$8,717.00	LS	\$3,700.00	LS	\$8,000.00
621.0200	Invasive Species Removal Plan	FA	FA	FA	\$5,000.00	FA	\$5,000.00	FA	\$5,000.00	FA	\$5,000.00
	Removal of Plants and Animals Established before Physical Construction or Site Work, Post Removal Monitoring	FA	FA	FA	\$30,000.00	FA	\$30,000.00	FA	\$30,000.00	FA	\$30,000.00
										Sheet No. 7 of 9 St	

Sheet No. 7 of 9 Sheets

PROJECT:	Miscellaneous Permanent Best Management Practices Phase 3,										
	Various Locations on Oahu HWY-O-02-20	-									
NET LENGTH:	0.30 Miles			CONTECH EI			/ORKS, INC. GLOBAL SPECIA			STATE OF HAWAII DEPARTMENT OF	
ISLAND:					C.	HAWAII WORKS, INC.		CONTRACTORS, INC.		TRANSPORTATION	
DISTRICT:	Waialua and Ewa									HIGHWAYS DIVISION	
DATE ADVERTISED: BID OPENED:	May 20, 2022 June 20, 2022										
COMPLETION TIME:	Two Hundred Sixty (260) Working Days										
ITEM NO.	ITEM	APPROX. QUANTITY	UNIT USED	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUN
	PID 973 - Cont'd				7						7
	Monitoring of Invasive Species During and After Construction	LS	LS	LS	\$4,200.00	LS	\$49,784.00	LS	\$7,500.00	LS	\$5,000.0
	Post-Construction Inventory Prior to Returning the Site to the State	LS	LS	LS	\$3,100.00	LS	\$2,482.00	LS	\$3,700.00	LS	\$5,000.0
636.0100	E-Construction License	FA	FA	FA	\$10,000.00	FA	\$10,000.00	FA	\$10,000.00	FA	\$10,000.0
641.0100	Hydro-Mulch Seeding Mix	1010	SY	\$26.00	\$26,260.00	\$25.00	\$25,250.00	\$160.00	\$161,600.00	\$4.50	\$4,545.0
641.0500	Additional Hydro-Mulch Seeding Mix Applications	FA	FA	FA	\$13,297.50	FA	\$13,297.50	FA	\$13,297.50	FA	\$13,297.0
643.0100	Maintenance of Existing Landscape Areas	FA	FA	FA	\$5,000.00	FA	\$5,000.00	FA	\$5,000.00	FA	\$5,000.0
645.0100	Traffic Control	LS	LS	LS	\$12,600.00	LS	\$37,375.00	LS	\$16,000.00	LS	\$50,000.0
645.0200	Additional Police Officers, Additional Traffic Control Devices, and Advertisement	FA	FA	FA	\$10,000.00	FA	\$10,000.00	FA	\$10,000.00	FA	\$10,000.0
648.0100	Field-Posted Drawings	LS	LS	LS	\$420.00	LS	\$748.00	LS	\$1,700.00	LS	\$1,500.0
657.0100	Testing, Handling, Treatment and Disposal of Contaminated or Hazardous Items and Material	FA	FA	FA	\$25,000.00	FA	\$25,000.00	FA	\$25,000.00	FA	\$25,000.0
671.0100	Protection of Endangered Species	FA	FA	FA	\$5,000.00	FA	\$5,000.00	FA	\$5,000.00	FA	\$5,000.0
684.0100	Grass Pavement System	275	SF	\$26.00	\$7,150.00	\$157.00	\$43,175.00	\$75.00	\$20,625.00	\$25.00	\$6,875.0
696.0100	Maintenance of Existing Field Offices	FA	FA	FA	\$30,000.00	FA	\$30,000.00	FA	\$30,000.00	FA	\$30,000.
	Mobilization (Not to Exceed 6% of the Sum of All Items [PID 973] Excluding the Bid Price of this Item)	LS	LS	LS	\$20,000.00	LS	\$23,000.00	LS	\$8,500.00	LS	\$34,100.0
	Sum of All Items {PID 973}				\$436,842.50		\$570,578.50		\$584,387.50	Sheet No. 8 of 9 Sh	\$603,867.

P	TABULATION OF BIDS									
PROJECT NO.: PROJECT NO.: NET LENGTH: ISLAND: DISTRICT: DATE ADVERTISED: BID OPENED:	0.30 Miles Oahu Waialua and Ewa May 20, 2022			CONTECH ENGINEERING, INC.		HAWAII WORKS, INC		GLOBAL SPECIALTY CONTRACTORS, INC.		OF HAWAII MENT OF ORTATION S DIVISION
ITEM NO.	ITEM	APPROX. QUANTITY	UNIT USED	UNIT PRICE	AMOUNT		T UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
	Summary									
	a. Sum of All Items {PID 496}				\$318,055.00	\$272,749	.00	\$512,220.00		\$265,550.00
	b. Sum of All Items {PID 21}				\$494,990.00	\$503,249	.00	\$655,065.00		\$321,770.00
	c. Sum of All Items {PID 246}				\$698,355.00	\$651,890	.00	\$509,450.00		\$508,750.00
	d. Sum of All Items {PID 973}				\$436,842.50	* \$570,578	.50	\$584,387.50		\$603,867.00
	Sum of All Items (a+b+c+d)				\$1,948,242.50	\$1,998,46	6.50	\$2,261,122.50		\$1,699,937.00
	Hawaii Products Preference Item				\$4,804.00	\$0.00		\$0.00		\$0.00
	Apprenticeship Agreement Prefence				\$97,412.13	\$99,923	33	\$113,056.13		\$0.00
	Amount for Comparison of Bids				\$1,846,026.37	\$1,898,54	3.17	\$2,148,066.37		\$1,699,937.00
						*Hawaii Works, Inc.; Mathematical Error, Sum T PID 973	otal			
	Project Manager: Misako Mimura Date: June 27, 2022									